
Manufactured and Marketed by :

PLANET POWER TOOLS PVT. LTD.
GIDC Ind. Estate, P.O. Kabilpure, Navsari - 396424, Gujarat.
For Customer Care Number : (022) 4067 6105.
E_mail : mumbai@planetpowertools.com



A
ll 

th
e 

to
o
ls

 m
an

u
fa

ct
u
re

d
 b

y 
P
la

n
et

 P
o
w

er
 T

o
o
ls

 P
vt

 L
td

 u
n
d
er

g
o
 a

 s
er

ie
s 

o
f 

ri
g
o
ro

u
s 

in
sp

ec
ti
o
n
 

p
ro

ce
d
u
re

s 
en

su
ri
n
g
 t

h
at

 y
o
u
 o

n
ly

 g
et

 a
 w

o
rl
d
 c

la
ss

 p
o
w

er
 t

o
o
l.
 

A
ll 

P
ro

d
u
ct

s 
m

an
u
fa

ct
u
re

d
 b

y 
P
la

n
et

 P
o
w

er
 T

o
o
ls

 P
vt

. 
Lt

d
. 
ar

e 
co

ve
re

d
 b

y 
an

 i
n
te

rn
at

io
n
al

 w
ar

ra
n
ty

 
@

va
lid

 f
o
r 

si
x 

(6
) 

m
o
n
th

s 
fr

o
m

 t
h
e 

d
at

e 
o
f 

p
u
rc

h
as

e.
 T

h
is

 c
o
m

p
re

h
en

si
ve

 w
ar

ra
n
ty

 c
o
ve

rs
 t

h
e 

p
ar

ts
 a

s 

w
el

l 
an

y 
d
ef

ec
ts

 a
ri
si

n
g
 o

u
t 

o
f 

fa
u
lt
y 

m
an

u
fa

ct
u
ri
n
g
 o

f 
th

e 
to

o
l.
 

@
T
h
e 

W
ar

ra
n
ty

 D
O

E
S

 N
O

T
 a

p
p
ly

 t
o
:

·  
  
C
o
m

p
o
n
en

ts
 s

u
b
je

ct
 t

o
 n

o
rm

al
 w

ea
r 

an
d
 t

ea
r 

e.
g
. 
C
ar

b
o
n
 B

ru
sh

es
, 
B
ru

sh
 h

o
ld

er
s,

 p
lu

g
 a

n
d
 c

o
rd

 

  
  

as
se

m
b
ly

, 
d
ri
ll 

ch
u
ck

s 
b
at

te
ri
es

, 
fl
an

g
es

 e
tc

. 

·  
  

U
n
le

ss
 e

xp
re

ss
ly

 s
ta

te
d
; 

an
y 

an
d
 a

ll 
at

ta
ch

m
en

ts
 s

u
p
p
lie

d
 w

it
h
 t

h
e 

to
o
l.
 

·  
  

U
n
au

th
o
ri
se

d
 r

ep
ai

rs
, 
al

te
ra

ti
o
n
s 

an
d
 m

o
d
if
ic

at
io

n
s.

 

·  
  

D
am

ag
e 

ca
u
se

d
 d

u
e 

to
 d

u
st

, 
sl

u
rr

y,
 a

n
d
 a

n
y 

fo
re

ig
n
 o

b
je

ct
s 

as
 w

el
l 
as

 d
u
e 

to
 i
m

p
ro

p
er

 u
se

 o
r 

an
 

  
  

ac
ci

d
en

t 

·  
  

D
am

ag
e 

d
u
e 

to
 v

o
lt
ag

e 
fl
u
ct

u
at

io
n
s 

 

C
O

N
G

R
A

T
U

L
A

T
IO

N
S

; 
Y

O
U

 A
R

E
 N

O
W

 A
 P

R
O

U
D

 M
E

M
B

E
R

 O
F
 

T
H

E
 P

L
A

N
E

T
 P

O
W

E
R

 P
A

R
IV

A
R



Fan Guide

Cord Clip

Brush Spring

Tail Cover





Lock Pin

Ball Bearing (6201)

Bearing Cover

Fan Guide

Bumper

Brush Holder

Brush Spring

Housing

Ball Bearing (607)

Tail Cover

Switch Holder

Wrench

Screw

Fan Flange

Switch Cover

Screw

Screw

Lead Wire

Lead Wire

Screw

Cord Clip

Screw

Ball Bearing (608)

Armature

Stator

Switch

Carbon Brush

Cord Assembly

Wheel Nut

Wheel Washer

Screw

Flange

Wheel Guard

Spring Guard

Screw

Packing Gland

Spindle

Brush Cover

Cord Armor

Gear & Pinion

Screw

Gear Cover

Distance Spacer

Side Handle

Gear Flange

Nut

Lock Button

Spring

Sr. No. Description

101

102

103

104

105

106

107

108

109

110

111

112

113

114

115

116

117

118

119

120

121

122

123

124

125

126

127

128

129

130

132

133

134

135

136

137

138

139

140

141

143

144

145

146

147

151

152

154

Sr. No. Description



Brush Spring

(607 ZZ)

(629 ZZ)

(606 ZZ)

(6201 ZZ)


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

